= . : 5 W e . v . L ATET]

T — - g 1 - X5 - - o [=-01 B D o g l—.-—l"l...l S g

A et a™P N

Povrime.  Femelored

= o Klvvendoree.

J"‘f-l"f-fl' .

" owy

1
=1




The railway crossed the Thames & Severn Canal on a 66ft span bridge at
Bourne Mills at an angle of 45°. The above drawing shows the bridge
abutments and the truss that formed the main span of the bridge.

The main longitudinal beams are shown in the plan. Timbers of size 12in by 6in
or 12in by 9in would be fixed at right angles on top of these beams to provide
the deck which carried the actual railway.



